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) Question No 1 is compulsory.
Answer one full question from ,5- th of 2 to 5.

|
Ly fu ¢ «
. No :
‘a) Define the following terms : Foreign key, Database s{:hema, program-data independence, Meta
data, Domain of an attribute ®

1.

x 1 : .
{b) What is the difference between spanned and unspdnned records ? Give the condition when .
we have to go for spanned records to store records in block of disk. 12) -

(c) Describe the role of DBA in DBMS. t2-

(d)- List and explain the necessity of having different buff_ers for executing user query.

(e) What do you mean by spurious tuples ? Explain by taking suitable example.
() With an example explain why concurrency control is needed in multi-user database system ? 533

(g) Describe_the term MVD in the context of relational database management system by giving
. auexample. 54

(h) Write the algorithm for ¥° X - closhre). g vy
“(8x5=40 marks)

2. (a) () Explain the importance of data modelling in view of DBS. (7 marks)
(i) Discuss the main characteristics of DBS over traditional file: processing system.
- (8 marks)
> Or .

3 : : ) : (15 marks)
- (@) (1) List the Operations of the relational algebra and the purpose of each. -~ "~ (g ma}k;s) '

(i) Write short note on RAID technology. 24 (7 marks)

() (i) What are the adv

(7 marks)
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(1i) Compare secondary indexing with pri.nary and cluster indexing. Explain with situation
- when each of these indexing methods frre more appropriate. ,
- : (8 marks)
I (a) (0 Explain how shrinking and expansion df access structure takes place in extendible hashing.
» . | (7 marks)
(i What is functional dependency ? Exptiin with exampld. [n what way they are different
e than inclusion dependencies ? ! T
B ; (8 marks)
N O‘-
) Howa given ER diagram can be converted into relations ? Explain by taking suitable example.
. 5 ; (15 marks)
5 ,'\(a) (1)  Write the algorithm to get the relati i in 3NF. : : (7 marks)

(i) “Most'of the DBMSs support a programming language”. Why ? Car-database be quened

using these languages ? Explain with the help of an example.

- (8 ._mgrks)
‘ Or
(b)Y Write short .not,és on : ‘
(1) Dynamic SQL.
(i1) .\’iew§ in SQL. : o '
e o (LD THETER)

[4 % 15 = 60 marks]




